N=1 N=2 N=3

1 circle in a heptagon 2 circles in a heptagon 3 circles in a heptagon
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radius = 0.900968867903  density = 0.931940623499  QEgwr: radius = 0.468245218314  density QEgens radi us densi ty QEgmet
ratio = 1109916264175 contacts = 7 g ratio = 2.135633127447  contacts pees ratio 2.331167803634  contacts el

4 circles in a heptagon 5 circles in a heptagon 6 circles in a heptagon

00
0

radius = 0380581895389  density = 0.665158146701  QEgwr: radius = 0.341846932230  density = 0.670813898229  QEgwr: density QEgmet
ratio = 2.627555362235 contacts = g ratio = 2.925285868379  contacts pees 3.183013561745  contacts el

7 circles in a heptagon 8 circles in a heptagon 9 circles in a heptagon

A~

radius = 0.308425907488  density = 0.764484028117 [ fgrs radius = 0.292853112904  density = 0.787695474600 [ fgwrs density Qg
ratio = 3.242269782537 contacts = 14 ol ratio = 3.414681135136  contacts = 21 ol 3.924299352439  contacts = 17 e

N =10 N =11 N =12

10 circles in a heptagon 11 circles in a heptagon 12 circles in a heptagon
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A

radius = 0.243031374794  density = 0.683131011143  QEgwr: radius = 0.237517122658  density = 0.712444775415  QEgwr: radi us 0. density . QE g
ratio = 4.099513647416  contacts = ol ratio = 4.210222778089  contacts = 23 feess ratio = 4.379174816233  contacts = 25 e




